20160604

PN 'PrCcOCl A
O —_—
iProNEt, A
N02 NOZ
HO OH NO
29 2 A .
- N —_—
NH; H.SO, A P TMSOTf N
i N MeCN N
24.°C, 20 min 64% o

Expalin the reaction mechanism for each transformation.
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1. HBr, AcOH, 0 °C
2. Br,, ACOH, 23 °C
3. iPrNH,, Et,0, 0 °C

4.10% ag. AcOH
THF, 50 °C
50% (4 steps)

1. LiAlH,, Et,0
2. Ac,0, 150 °C
60% (2 steps)

Y

3. LiAlH,, Et,0
4. DMP, NaHCO3
H,0-CH,Cl,

75% (2 steps)

Q1: What is the trivial name of A ? (trivial name: Sp—p-V4

eupalinilide E

Q2: Explain the synthetic scheme to give B from A

Q3: Propose a plausible synthetic route and reagents to give D from C.
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Hint: tiglic acid | OH Dionicio Siegel et al. 3. Am. Chem. Soc. 2016, 138, 6068.



